ooooooooo -00

oooooo0ooo -00 2

000 0000
[Dooooooooo]
00000: z€A z000 AO0OO

0oooo: S={11,13,17,19}
00000000000000000

00000: T={z|xeZ00z>0}
0000000000000

oood: BCA Q0OOOOzOOCOCOO
reBOOOzeADDDO

ooooooooo OO0

ooogd: A=B (A:BDDDDEI
A # B)
ADBOD ACBOD

OoooO0: AcCcB ACBOO A#B

ODD: A4, (0DDOD AOOOD)
A;00000000000

ooooooooo oo 4

[Doooooo]

ooooooooo -0o

[00D00] 000D (0D)000000000
(00 ooo)
[00D00)000000D0000

000 (000): AnB 000 (00): AUB

0 g

AUB

ANB
[oooO0]
00000000000000

ooooooooo -0o

[Dooooooo)

goooooooo -0o0

o0Qg:
AUB = BUA ANB = BNA
ooO0: AuUBUC) = (AUB)UC
AN(BNC) = (AnB)NC
000: AUBNC) = (AUB)N(AUC)
AN(BUC) = (ANB)U(ANC)
0oooo0ooodd: AUB = AnB

ooo

[DO0] 0 (true) 00O (false) DODODOOODOO
oo

[D00]AVBOADDO BO
[D00]AABDADDO BO

[00]A0ADOOO

NOT OR

AND

AVB

AAB

Al A
0|1
1|0

rroo|>
rorolm
RrRrRo|L

rroo|>
rorolm
roool>

A

ooooooooo -00

[DoooOo(ooooooon)

20 (100)00000
[Dooo]




ooooooooo -00 9

[DooDoOoOoOoO0)(0oO00O0D0O0)

1. 000000 AQODOD 1000000
2. (a) A-0=0-A=0
b) A+1 =1+4 =1
3. (a) A1 =1-A=
b) A+0 = 04+ A =
4. ) 0=1 () 1I=0

A
A

000000 O0N0000D000000)
00036000000

ooooooooo OO0 11

[DooooOoo00O0O0)

(v +z0+---2,) = T1T3-- Ty,
n=20000000000000
nd000000000000O0n+10000

oo
0000 y=(x;4+22+---+2,) 00000

ooooooooo -0o 13

[Do11]0000

f(xla‘r%"')xn; +7 ) = f(flyﬂayxim ) +)

oo

000
flz,y,2)=(x+y)(T+2) 00000
fl@,y,2) = f@.75.% -+)

= (ZT-y+(T-z) =7y + 2z

goooooooo -0o0 15

0O}
fd(1‘171'2,~-'71'n) Ef(r_bx_%,l'_n) O
f(zy,29,+++,2,) 0000000

[Dooo]
f=f{000000 fO0000000OOO0O
oo

goooooooood
f(x17"'7x71;':+):f(x17"'71771;+7') RN
oo

oooooo0ooo -00 10

[000DO0O0O00O00O000]
00000,100000000000000
00000000000000000000

0](A+B) = 4-B

A+B|(A+B)
0 1

A-B

A B
0 1
0 0
1 1
1 0

ooooooooo oo 12

(w1 +a+ - o+ ap1) = (Y+ Tns1)
= Y- Tpt
+$2+"'+xn)'xn+1

T{Ty Ty Tpitl

—~~
‘ 8
—

= T1X2 Ty Tptl

uob»+1000000

ooooooooo -0o 14

(b) (x+72)(xyz) 0O DO
Jlewz) = ty=00000
(x+72)(zyz) = flz,y,2)+ (vyz)

) tryz = T(y+2)+ayz
=Tyt+trTZztayz = - = Yz+7T7%

ooooooooo -00 16

O]
f(l‘hl'g,l'g) = Z1T9 + Tox3 + T37 good
ooooo

d S —
fU@1, 29, 03) = T1T3 + T T3 + T3 11

@m) - (@) - (@)
= (Ll’l + 172)(352 + 353)(1“3 + xl)

= IX9%3 + T1T9x| + ToToxz + -+

= I1Xy+ ToT3 + T3xq




ooooooooo -00 17

ooooooo
ooo

ooooooooo OO0 19

0oooooO0oo -00 21
O]

f(@1,29,23) = (v1 + T2) (2172 + 22T3) + T122

() 000000

flxy, 29, 23) = (214 T2) (2173 - ©5T3) + T129

= (21 + 72)7172(T2 + 73) + T2y
(2173 + 2172) (T2 + x3) + T129

= 1173(T2 + x3) + T2

= T1T3 + T1T2T3 + T122

= 11T2(1 + x3) + Trzo

= T1T2 + T1T2

goooooooo -0o0 23

0OooDo0O0oooooo (1)

0O 13]

000 f(ay,2---,2,) 0000000000
00

(a) Tl'f(0>$27"'>x71)+x1'f(17'r27"'7'rn)

(b)

(x_1+f(1>$27"'7$71))'(1'1+f(071'27"'7'rn))

oooooo0ooo -00 18

(00 12]
flze, - 20,0, 154, ) = g(x, -+ -, 20,0, 1; 4, 7)
ogooo
f(fl"/l, <o Ty, 1,05 .7+) = g(l’h e Ty, 1, ;.ﬁ.)
gogdod

O]

(x+79)y = 2y 000 =
y+y = x+y Qoo

r+7 = 1000 = 2z = 00000

ooooooooo oo 20

[0ooOoo0o0oo0O0)
(1) 000 67000000000000000
00000000

(2) 0000000000000 0OO0OO0

[Doooooooo]
(1) 000 67000000000000000
00000000

(2) 000 (3(b)00D00O0O000OO00
00

ooooooooo -0o 22

(byO0OOooo

flxr, @, 23) = @173 + Ty

= (2173 4 77) (2173 + 22)

= (z1+71)(72 + 71) (21 + 22)
(T2 + 22)

= (71 + 72)(21 + 12)

joooooooo -oao 24
f(O, X2, 000, Xn) = ;Eof(o,x2,o--,xn)+ 0ef(1Xo,eee,Xn)
| —
! )
(L Xa,eee,Xn) = 1@F(0,Xo, 000, X )+ 1 @ f(1,Xa, 000, Xn)
|
OoOo] 0
r1 000 z;, 0000000000000




ooooooooo -00 25

(O] f(x1, 22, 23) = Trwy + T1 T3 + 21723 0 a3
goooooo
[ = z3(Trey+ 70 T+ 2175 - 1)
+73(T1wy + 71 - 0 + 2173 - 0)

= 23(T17y + 2172) + T3(Trzs + T7)

= 3(Tiwy + 2172) + T3 71

goooooooo oOo o7
gooooog:
[y, 29, 2,) = (TI+T2+ -+ +7,
+ f(1,1,---,1))
(TL+ -+ Tot + a0 +
f(17...7170))

(z1+a2+ -+
+f(070*70))

ooooooooo -0o 29

[DoooOooo]
00000000000000O000
ooooooo:
f(zy,---,2,)=10000000000000
oog
(r; =000 ;000 z; =100 2, 000)
ooooooo:
f(xy,-++,2,)=00000000000000
0ooQ
(z;=000 ;000 ;=100 7;000)

goooooooo -0o0 31

[D00O0D00]AS®B
A®B = AB+ AB
[Doooooooo]
000 =101 =0
001 =100 =1
[DD0Do00o0o0DO00O00]
a+b =a®bead 00000000000
f(l'l,l'g,"',l'n) =
0,2z, 2,) @ oy {f(0, 29, ,x,)
Of(L,zg, -+, x,)}
gooooooo

oooooo0ooo -00 26

00000000000 (2)

00 14]

000 f(zy,z,-+,2,) 000000 (000)D0
ooooo

000o0000:

f(mlyx% o '7'rn)

Il
5
=
5
.
=
\’O
“O
s

ooooooooo oo 28

[000]0O000000000
[0oo (ooo)

T1T Ty, 122" Tp, T1Ty---T, OO

[D0DoDO0000)) 00000
[Doo(@oo))

r1t+ax+---+x,, Txt+r2+---+x,, Ti+
To+--+7, 00
[DoDoooo00)ooooo

ooooooooo -00 30
O]
f(@1, 20, x3) = (21 + Taxs) + T1wa(T1 + 22 + T3)
r1 w2 w3 | flzi,ze,23) | 000 ooo
0 0 o0 1 TS
0 0 1 0 T + T2 + T3
0 1 0 1 Ty Tp Ty
0 1 1 1 T1 Lo T3
1 0 0 0 T+ xo + 23
1 0 1 1 1 T3 X3
1 1 0 0 Ty + T3+ a3
11 1 0 Ty + T3+ T3

ooooooooo -00 32

[Doooo]
goboddoobooooobooooooooo
gboodoooboooooooooooooo
oo N
floy,me, - 2n) = co® ) i,

i=1
® > cinizk S
i<k
D Cl12.nT1To Ty

.0 fO000000OOCOO0O1




